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1) ~V-3=12 7) Rx~x~=l 1) done
16 1 ~~ 2 1) 1 2 20

1 5 50 '5 = 10 = .2 = 100 = .20
~V=15 21-0 2-t-4 2:£. 8 2) 2' = 10 = .5 = 100 = .50
16 8) -x-x =-

12. .~ V = 1.§..12.
-s."RJ '1:) 11 11

3) 4 8 80 i 3 6 601 +...1..= 1.x.1Q. =.1Q.= 5 '5 = 10 = .8 = 100 = .80
3 16 1 3 9) 2) '5 = 10 = .6 = 100 = .60

V = 240 =80
2 10 2 1 2

4) done
3 10) 37 +.i1 = 37 x 't23= .§.= 100 = 100%5)

3~
1 258 12 28 41 5 100 4 = 100 = .25

2) ~(80)-3 =12 .111= 129
6) done16 82 82

2(80) -3 = 12 11) 256 oz. > 1 oz. 7) 1 50
4\

.§.= 100 = 100%
16 1 2' = 100 = .50 = 50% 5 100
240 -3 = 12

12) 2,640 ft. = 2,640 ft.

16 13) 9 in. < 10 in.
£ = 40 = 400;'15-3=12 14) 4+8+10+14=36

5)
5 100 °

12 = 12 36+4=9

3) 50 +4= 19 15) 6+7+9+14=36 6) ~ = 75 = 75 = 75%
36+4 = 9 4 100 .

50 = 15

1.50 = 1.§..1 16) 6 + 6 + 12 = 24 29B

5 1 5 24+3 = 8 1) done 7) 1 = 50 = 50 = 50%
0=1.§.=3 17) 21.+11. = 3.£ = 31.

2 100 .
2) 3 75

5 4 4 4 2 4= 100 = .75

4) 5(3)+4=19
31.+11. = 4.£ = 5

2 4 402 2 2 3) '5 = 10 = .4 = 100 =.40
15+4=19 5 + 3 = .§.= 1.£ mi

3 3 .
4) ~ = 60 = 60%

19 = 19 18) ..1:x..1:x..1:= 64=2.!Q.cuin 5 100
3 3 3 27 27 . .

5) 4 80 8001<
5) 2i (22) = 2i .4 = 19) 30:2,~,~,6, 10,lQ,30

'5 = 100 = °

88 124 . 45:~,~, 9,lQ,45 6) 1 = 25 = 25 = 25%7"= -::; sq. In.
GCF= 15 4 100 .

20) 15 7) 3 75
£. 22.£ = 4 = 100 = .75 = 75%

6)
1 7 1
88 =12.iin
7 7'
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9F 30A

1) 1= 20 = 20% 1) 6. = 40 = 40%
1) ~ = 60 = 60% 1) done 7) 1Y+~=7~

5 100 5 100 5 100 244

2) ~ = 60 = 60% 2) §..= 100 = 100% 1 = 20 = 20% 2) done 1Y=7
2) 25 100 5 100 5 100

1 = 25 = 25 = 25% % = 1~~ = .75 = 75%
3) ~x_.1=191 £ ..1y=1..£

3) 3) 3) ..1= 80 = 80 = 80% 5 2 2 1 2 1 1
4 100 . 5 100 .

~X= 19.1+.1 y= 1..1.=14

4) 4 80 4) ~ = 1~~ = .50 = 50% 1 = 25 = 25 = 25% 5 2 2 1
"5 = 100 = .80 = 80% 4) 4 100 . ~X= 20 8) 1(14)+~=t~

5) 1 T +5 = 8 5) ..1u -11 = 33 5) 7X-9=19 5 2 4 4
2 5 §.. ~X = 20 . .§. 7+].=7
1T=3 ..1u = 44 7X=28 3 5 1 3 4
2 5 1·7X= 28.1 X = 100 = 33.1 7~=7 3
£·.1T=~·£. §... ..1.u= 44 . ..2. 7 7 3 3 4
1 2 1 1 4 5 1 4 X=4

~M-A~ = 1
6

0T=2.=6 U = 220 = 55 6) 7(4)-9=19 4) ~COO)_.1=191 9)
1 4 28 - 9 = 19 5 3 2 2 ..1M=L

6) 1(6)+ 5 = 8
6) ~ (55) - 11= 33 19 = 19

300 _1 = 19.1 5 10
15 2 22

~ ( 515) - 11= 33 16§..-81= 8..1
§... ..1.M=.L.l

3+5 = 8 7) 20 _.1 = 191 4 5 2'Kl 49 9 9 2 2
8=8

220'_11 = 33 6..2.- 3..1.= 3.1 191=19.1
M=1.

8) 8
7) 'S '2 1 1 5 5 5 5 2 2

'i4i7" x'S= 14" 44 -11 = 33; 33 = 33
41§..+2 24 = 6 39

10) ..1(1.) _...1..= ~

~3 ~ 9) 1L+1=£'
5 8 10 5

7) 9 8 1 18 3 1 40 40 40 5) 28 1 38) ~x47 xtg = 141=70.1 1"2+1"2 +1"2 = 1"2 ="2 = 1"2 633
"8.~~ 'K 2 2 10) 3 1L= .1

40 -10" ="5

8)
..§... ..£..+.l=1£.=..1 11) 11 6 3 7139) 6 15+1515155 12) 25 10"-10" = 5

10) 13 2. . .1L = 1 . .2.

11) 9
9) 2 13) 39 1 6 3 1 6 3

10) 17 -=-
12) 31 14) V L=2.=2 10 5

13) XX
11) 27 15) XII 3 1 2 112) 19 16) XXXVIII 11) -Z-- = 3-

14) VIII 13) VII 4 3 3
15) XVI 14) XVIII

17) XIV 6) 1 (2)+.1 = a 1Z=3].=4
16) XXXIV 18) 45+34+40=119 6 3 3 4 3

15) XXI 1(£,)+.1=£17) 16 + 18 + 22 = 56 16) XXXV 119 -i- 3 = 39 2/3 mi. ..1..1Z=4 . ..1.
(J)

56.;..3 = 18 ~ yrs.
6 1 3 3 1 4 1 0

17) 1/2(24)(13/2) = 78 sq. in. 1 1 'lit 119) -x-x-=- £+1=£' Z= 16 c
18) 3/8.;..5/8 = 3/5 mi. 2 'lit 5 10 -700 633 o·

22 ( 2) 22 tmeo 112 1 ( ) 2 1
19) 3£'+6].+5.1=14.2.=15 20) 2i (282) = ~ .~ = 1+1=£'

:::J
18) A =""770 =Y'-1-= 12) - 16 --= 3- (f)

6 6 6 6 3 3 3 4 3 3 ro
15~00 = 15,400 sq. ft. 15+3=5in. 24r = 2, 464 sq.ft. £=£. 4-£.=3.1 CD

3 3 0
10 3 3 I

C = £. .¥- .]Q = 440 = 440 ft 2 22 'y 44 \ 2, 464 > 200 so no 3.1 = 3.1 co
1 1 1 20) 1"'Y '1"= -1 = 44 ft. 3 3 0

I »


